20204 31 Etot ZIM Xt Ol &

1. &2 w7l ot

EX
=
‘olzotel Alg 2 Aks 1 Hof oiMs| Alz|2ct o{SebiM 18 2ol DIXTE 235
SHA[Z 2F Rp7| O Afolofl AA| stAl2| 2L}
1) =Ct 2) &% 3) Lol 4) 24|

)
2. ZH= H Mol SAgUI(Y 34) S HSof
00A| 2) 110 3) 120A| 4)
3. ofefl= ZAMlel 530l 2et MELCHAl 34) X 22 HYo| HGo| 0EE ML

11

|

1) =& el Lol 120MAct
) 0

)

=
2) 22 Lol A= SM7[oll FAL ==t 27K 129 28 X2 o= APt gict
3) 7t 52 W 0| S2|X| AL 7|20| ASHK| LUCt 4) ok=xt g =3

4. §Zols £79 ol I (T 1)

5. 7h-tet H5 o|Fof ola] bt SHO| He J|¥e

u

HifH X|olE2 Hi2H & X|0f
) ofgff E7[oflA Eol 1 HE0| 0EE AL

A
s
rlo

7. 02|12 EEST 210l ME of&E A5 E FAOIAEHMN(F 2) HZ0l 0F st
1) ol A £g et 2) &oll 72 =2 Wt
4) 2o A =2 WCh 4) 2ol 52 &2 Uch
8. 0{2|11E HESIHL ATt 7|4ol Hof sAUH ojAZld HEHE2 ¢ HU7 W (F 2) St=

1) {Eotel 2 2) Rt BH A X|ule] A=
3) WMol AR X TXIE 4) A E Hl HARE

= 04a|1 @%OH kA 2&%% oA aﬂ—txl gk= clo| B5of 0F (4-3)
Er 2 ¥ | 20| {0l ZBoFCH
ML Z0| ”*F—LEP 4) ZAM|7} X[Ho|E Lol S0| Z2HHcCt

mn r
Io
_l_
=



